Lab 10

CSE114 — Intro to Object Oriented Programming
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ints=2; inti=n;
i = mul(i, s +k); int j = factor;
n=i+j;
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System.out.printin("sumis: " +i +j +s); factor =n +n;
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return j + n;

} public static int sumFooBar (int x, int y) {
public static int bar (int n) { int f = foo(x);

inti=n*n; int b = bar(y);

i=i*n; return f + b;
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return n + n; public static void main (String[] args) {
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} int result = sumFooBar(n, m);
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(just before return from foo() ) (just after definition of ji )
(after return from foo() )

] e . .
Stack (2) AN — - PR g T —
or <« SP bar () \ I 2
md /| | ( ? A —
\ fgime frame f
éggFooBar(]\ = . sumFooBar( ) = - s \\ 5 .
public class Stack { L - I\ 2 =UlEReEan] Y1 2
public static int foo (int n) { resul+ [N resul+ [N result [0
ntion et /s el E e /|
-+ AN | IR AN 0 —| I o
j=j'F3; NG main() 3
return j + n;
} public static int sumFooBar (int x, int y) {
public static int bar (int n) { int f = foo(x);
inti=n*n; int b = bar(y);
i=i*n; return f + b;
n=i }
return n + n; public static void main (String[] args) {
} intn=1;
. intm =2;
} int result = sumFooBar(n, m);

n n

System.out.printinfn +", "+ m + ", " + result);



Stack (3)

public class Stack {

public static int foo (int n) {
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return j + n;
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public static int bar (int n) {
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return n + n;
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public static int sumFooBar (int x, int y) {

int f = foo(x);
int b = bar(y);
return f + b;

}

public static void main (String[] args) {
intn=1;
intm =2;
int result = sumFooBar(n, m);
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System.out.printinfn +", "+ m + ", " + result);
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public class Parameter {

public static void swap (int x, int y) {

inttemp = x;
X=Yy;
y = temp;

}

public static void main (String[] args) {

int x = 2;
inty=4;

swap(x, y);
System.out.printin(x + ", "
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(after definitions in main() )
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public class Memory {
public static void swap (int x, int y) {
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}
public static void swap2 (int[] arr, int i, int j) {
int temp = arr[i];
arr[i] = arr[j];
arr[j] = temp;
}
public static void print (int[] aa) {
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public static void main (String[] args) {

inti=2;
intj=3;
int[] aa = {10, 20, 30, 40};

System.out.printin("i="+i+"j="+j);

swap(i, j);

System.out.printin("i="+i+"j="+j);

print(aa);
swap(aa[2], aa[3]);
print(aa);
swap2(aa, 2, 3);
print(aa);
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Memory(2)

public class Memory {
public static void swap (int x, int y) {
int temp = x;
X=Y,
y = temp;
}
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public static void swap2 (int[] arr, int i, int j) {

int temp = arr[i];
arr[i] = arr[j];
arr[j] = temp;
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public static void main (String[] args) {
inti=2;
intj=3;

int[] aa = {10, 20, 30, 40};
System.out.printin("i="+i+"j="+j);

swap(i, j);

System.out.printin("i="+i+"j="+j);

print(aa);
swap(aa[2], aa[3]);
print(aa);
swap2(aa, 2, 3);
print(aa);
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(before return from swap () 2nd entry )
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arr(j] = temp; System.out.printin("i="+i+"j="+j);
} swap(i, j);
public static void print (int[] aa) { System.out.printin("i="+i+"j="+j);
print(aa);
) swap(aa[2], aa[3]);
print(aa);
swap2(aa, 2, 3);
} print(aa);
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public static void print (int[] aa) { System.out.printin("i="+i+"j="+j);
print(aa);
) swap(aa[2], aa[3]);
print(aa);
swap2(aa, 2, 3);
} print(aa);
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